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Dxb3

Wie gewinnt Weil3 am Zuge?

1.Dxf6!
[ 1...gxf6 2.Sf7# ]

2.Dxd8+ Dg8 3.Sf7#

1-0

(Diagramm)
1.Dxh7+! Kxh7 2.Th3+ Th6 3.Txh6#

Was kann Weil3 am Zuge nun
1-0

machen?
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. | Pfretzschner,B
B Bar,S

DEM Saarbriicken
[Husemann,,D]

2013
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Was sollte Weil3 am Zuge nun
unternehmen?

1.Dxd6! Txd6 2.Te8+ Df8 3.Txf8+
Kg7 4.Se8+ Kxf8 5.Sxd6

1-0

| | Wolkow,S
B Dragicevic,D
Stockholm
[Husemann, D]

2012

(Diagramm)

Wie gewinnt Weil3 am Zuge nun?
1.Tb7! Dd8
[ 1...Dxb7 2.Sexd6+ Lxd6 3.Sxd6+
Ke7 4.Sxb7 ]
2.Txe7+ Dxe7
[ 2...Kxe7 3.Lg5++- ]
3.Lg5 Da7 4.Sexd6+ Kd7 5.Dxe5
1-0
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VL Br. 1I-SC Wiedenbrick (8.89)09.2007
[Husemann,D]

l.ed c5 2.5f3 d6 3.d4 cxd4 4.Dxd4
a6 5.Lgb Sd7 6.Lc4 Sgf6 7.Lxf6
Sxfé 8.e5 Dab5+
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9.b4 Dxb4+ 10 Sbd2 dxe5 11.Lxf7+
1-0
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